
J. Med. Chem., 1998, 41(24), 4833-4843, DOI:10.1021/jm980419o

Terms & Conditions
Electronic Supporting Information files are available without a subscription to ACS Web Editions. The American Chemical
Society holds a copyright ownership interest in any copyrightable Supporting Information. Files available from the ACS
website may be downloaded for personal use only. Users are not otherwise permitted to reproduce, republish,
redistribute, or sell any Supporting Information from the ACS website, either in whole or in part, in either machine-
readable form or any other form without permission from the American Chemical Society. For permission to reproduce,
republish and redistribute this material, requesters must process their own requests via the RightsLink permission
system. Information about how to use the RightsLink permission system can be found at
http://pubs.acs.org/page/copyright/permissions.html

Copyright © 1998 American Chemical Society

http://dx.doi.org/10.1021/issn.0022-2623
http://dx.doi.org/10.1021/jm980419o
http://pubs.acs.org/page/copyright/permissions.html
http://pubs.acs.org/


1998 American Chemical Society, J. Med. Chem., Guy jm980419o Supporting Info Page 1

Z-Ala-NHPr. The mixed anhydride coupling procedure' between Z-Ala (8.92 g, 40 mmol)

and isopropylamine (3.40 mL, 40 mmol), followed by recrystallization from AcOEt gave 8.36 g

(79%) of Z-Ala-NH'Pr; mp 153 'C; [a] -9.0 (c 1.53; CH 2Cl 2) 'H NMR (200 MHz, CDC13)

8 1.12 (d, J = 6.5 Hz, 6H), 1.36 (d, J = 7.0 Hz, 3H), 3.97-4.17 (m, 2H), 5.08 (s, 2H), 5.40

(br. s, 1H), 5.90 (br. s, 1H), 7.32 (m, 5H) ; Anal. (Cl 4H 20 N20 3) C, H, N.

Boc-A1a-A1a-NH'Pr. The coupling of the activated ester2 Boc-Ala-OSu (2.28 g, 8 mmol)

with Ala-NHiPr (prepared by hydrogenolysis of Z-Ala-NH'Pr (2.12 g, 8 mmol)), followed by

recrystallization from DME, gave 2.04 g (85 %) of Boc-Ala-Ala-NH'Pr, mp 202 OC;

[a]2 -43.3 (c 1.0; MeOH) ; 'H NMR (500 MHz, DMSO-d6) 8 1.02 (d, J = 6.5 Hz, 6H, NH

'Pr), 1.15 (d, J= 7.0 Hz, 6H, Alal and Ala2), 1.36 (s, 9H, Boc), 3.77 (m, 1H, CH 'Pr), 3.91

(m, 1H, CHx Alal), 4.16 (m, 1H, CHL Ala2), 7.00 (d, J = 7.0 Hz, 1H, NH Alal), 7.64 (d, J

= 7.0 Hz, 1H, NH 'Pr), 7.69 (d, J = 7.0 Hz, 1H, NH Ala2); Anal. (C, 4 H2 7N 3 0 4) C, H, N.

Boc-Val-Ala-Ala-NHiPr. Similarly, coupling2 of Boc-Val-OSu (1.82 g, 5.8 mmol) and

with HCl, Ala-Ala-NHiPr (prepared by acidolysis of Boc-Ala-Ala-NH'Pr (1.75 g, 5.8 mmol),

gave 1.67 g (72 %) of Boc-Val-Ala-Ala-NH'Pr, mp decomp. 230 'C (from DME); [a]2 -19.8

(c 1.0; DMF) ; 'H NMR (500 MHz, DMSO-d6 ) 8 0.79 (d, J = 8 Hz, 3H, CH 3 Val), 0.83 (d, J

=8 Hz, 3H, CH 3 Val), 1.00 (d, J = 8 Hz, 3H, CH3 'Pr), 1.03 (d, J = 8 Hz, 3H, CH3 'Pr),

1.14 (d, J= 8 Hz, 3H, CH3 Ala3), 1.18 (d, J = 8 Hz, 3H, CH3 Ala2), 1.36 (s, 9H, Boc), 1.92

(m, 1H, CHP Val), 3.77 (m, 2H, CHct Val and CH 'Pr), 4.15 (quint, J = 6.8 Hz, 1H, CHL

Ala3 ), 4.26 (quint, J= 6.8 Hz, 1H, CHa Ala2 ), 6.71 (d, J= 8.0 Hz, 1H, NH Val), 7.60 (d,

J = 6.8 Hz, 1H, NH 'Pr), 7.81 (d, J = 8.0 Hz, 1H, NH Ala3), 7.90 (d, J = 7.0 Hz, 1H, NH

Ala2) ; Anal. (Cl9H36 N4 0*H20) C, H, N.

Boc-Ala-Pro-OBzl. Similarly, coupling2 of Boc-Ala-OSu (2.86 g, 10 mmol) with

HC1,ProOBzl (2.41g, 10 mmol), followed by flash chromatography [CH 2C2/MeOH (98/2)]

gave 3.29 g (87 %) of Boc-Ala-Pro-OBzl; oil, [a]D -67.2 (c 3.35, CH2 C 2 ); '1H NMR (CDCl3)

(200 MHz) 8 1.27 (d, J= 7.0 Hz, 3H), 1.40 (s, 9H), 1.98 (m, 3H), 2.16 (m, 1H), 3.60 (m,



© 1998 American Chemical Society, J. Med. Chem., Guy jm980419o Supporting Info Page 2

2H), 4.43 (quint, J = 8 Hz, 1H), 4.57 (dd, J = 8 Hz and J = 4 Hz, 1H), 5.07 and 5.18 (AB

system, JAB = 7 Hz, 2H), 5.32 (d, J= 8.0 Hz, 1H), 7.32 (br. s, 5H) ; Anal. (C20H28 N20 5) C,

H, N.

Boc-Ala-Ala-Pro-OBzl. Similarly, coupling2 of Boc-Ala-OSu (1.82 g, 6.36 mmol) with

HC1, Ala-Pro-OBzl (1.99g, 6.36 mmol, prepared by acidolysis of Boc-Ala-Pro-OBzl),

followed by crystallization from diisopropyl ether, gave 1.95 g (69 %) of Boc-Ala-Ala-Pro-

OBzl; mp 121 oC, [a]25 -123.9 (c 1.01, MeOH); 'H NMR (500 MHz, DMSO-d.) (two

conformers in a 90:10 ratio) 8 1.13 (d, J= 8.0 Hz, 6H), 1.35 (s, 9H), 1.78 (m, 1H), 1.88 (m,

2H), 2.16 (m, 1H), 3.48 (m, 1H), 3.61 (m, 1H), 3.92 (quint, J = 8 Hz, 1H), 4.33 (dd, J = 9

Hz and J = 4 Hz, 1H), 4.48 (quint, J = 8 Hz, 1H), 5.08 and 5.10 (AB system, J = 7 Hz,

2H), 6.88 (d, J = 8.0 Hz, 1H), 7.34 (m, 5H) 7.88 (d, J = 8.0 Hz, 1H) ; Anal.

(C 23H 33 30 6*0.25 H20) C, H, N.

Boc-Ala-Ala-Pro-OSu. This compound was prepared3 from Boc-Ala-Ala-Pro-OH (1.02 g,

2.8 mmol, obtained by hydrogenolysis of Boc-Ala-Ala-Pro-OBzl); 0.80 g (63 %) of Boc-Ala-

Ala-Pro-OSu was obtained after recristallization from isopropanol; mp 179 'C, [a]25 -91.4 (c

1.00, CH 2C 2); 'H NMR (500 MHz, DMSO-d6) (two conformers in a 88 : 12 ratio) 8 1.13 (d, J

= 8.5 Hz, 3H), 1.18(d, J = 7.5 Hz, 3H), 1.35 (s, 9H), 1.92-2.06 (m, 3H), 2.34 (m, 1H),

2.76 (s, 4H), 3.56 (m, 1H), 3.68 (m, 1H), 3.96 (quint, J = 8.5 Hz, 1H), 4.52 (quint, J = 8

Hz, 1H), 4.69 (dd, J = 9 Hz and J = 4 Hz 1H), 6.88 (d, J = 8.0 Hz, 1H), 7.98 (d, J = 7.0 Hz,

1H) ; Anal. (C20H3oN40 8) C, H, N.

Z-Ala-Ala-Pro-O'Bu. The coupling2 of Z-Ala-OSu (2.87 g, 8.96 mmol) with Ala-Pro-O'Bu

(obtained after treatment of 4.17 g Fmoc-Ala-Pro-O'Bu by diethylamine in DMF), gave after

recristallization from diisopropyl ether 2.52 g (63 %) of Z-Ala-Ala-Pro-O'Bu; mp 145 oC, [aD

-65.0 (c 1.48, CH 2Cl2); 'H NMR (200 MHz) (CDCl3) 6 1.34 (m, 6H), 1.42 (s, 9H), 1.90-

2.18 (m, 4H), 3.60 (m, 2H), 4.21 (m, 1H), 4.38 (m, 1H), 4.66 (m, 1H), 5.06 (m, 1H), 5.37

(br s, 1H), 6.88 (d, J = 6.5 Hz, 1H), 7.32 (br s, 5H) ; Anal. (C2 3H3 3 N306) C, H, N.



0 1998 American Chemical Society, J. Med. Chem., Guy jm980419o Supporting Info Page 3

2

x 0

/Ill II

0 1 2

Lineweaver-Burk representation of the HLE-catalyzed hydrolysis of hydrazinopeptide 3 at pH

8.0 and 25 oC : (e) [3]o = 5 x 10-5 to 5 x 10- M and [HLE] = 200 nM.

CO

t 0 12 3

-K
[5]o (x 104 M)

Dixon plot of the inhibition of HLE (20 nM) at pH 8.0 and 25 'C by 5 with the substrate MeO-

Suc-Ala-Ala-Pro-Val-p-NA at concentrations (RM) of 20 (*); 50 (o); 100 (m); 200 (a); 500 (*)



D 1998 American Chemical Society, J. Med. Chem., Guy jm980419o Supporting Info Page 4

Bodanszky, M.; Bodanszky, A. The practice of Peptide Synthesis; 2nd ed; Springer

Verlag: Berlin, 1994, pp 93-94.
2 Bodanszky, M.; Bodanszky, A. The practice of Peptide Synthesis; 2nd ed; Springer

Verlag: Berlin, 1994, pp 110-111.

3 Bodanszky, M.; Bodanszky, A. The practice of Peptide Synthesis; 2nd ed; Springer

Verlag: Berlin, 1994, pp 104-105.

I .



Z-Ala-Ala-Pro-Val-NHIle-Leu-OMe 2
DMSO, 500 MHz

6 5 4 ppm

OO

O0

*

0

C-

tI A t,. Aj L
9 8 7 3 2 1

. ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ .



Z-Ala-Ala-Pro-Val-NHAla-Ala-NH'Pr 3
DMSO, 500 MHz

I,,,,

8 7

ii LII
6 5 4 3 2 ppm

OO

*0

*

O

*

0

1



Z-Ala-Ala-Pro-NHVal-Ala-Ala-NH'Pr 4
75 % DMSO / 25 % CDCl 3, 500 MHz

. . 7 I 6 I II5 2 ' Ip

OO

*'

O0

*

**

OO

O

O

*

JA"9 y
6I 5S 2 1 PPM

ILJ



00

00

Z-AlIa-AlI-NIlI-ro-VIi-Aiat-AlIa-NiI iI 5 C

I)MSO, 500 MI z

00

cr

L-J-

- .2 --. 2- 3.6 2.07 1.64 0.66 C
1.61.30 1 .3 -0.10 9.94 2.01 1.44 48.68 0



Z-Ala-Ala-Pro-Val-Ala-Ala-NH'Pr 6
75 % DMSO / 25 % CDC13, 500 MHz

9 8 7 6 5 4 3

OO

*0

*~
O

*

<-

0*

o

00

2 1 ppm



Chemical shift (8 in ppm) of NH in hydrazinohexapeptides 3-5 and Veptide 6 as a function of DMSO-d6 content in CDCl3 / DMSO-d6 mixtures
(c = 0.005 mol 1 , T = 30 oC, 500 MHz)

Z-Ala-Ala-Pro-Val-Ala-Ala-NH'Pr Boc-Ala-Ala-Pro-Val-NHAla-Ala-NH'Pr

9,5

9-

8,5

8-

7.5 -

-4-- Alal

-- - Ala2

-6- Pro3

-X- Val4

- Ala5

-- *- AIa6

- -4-fNHiPr7

7 +

6,5 -

6+

6,5

6

5,5

5
100

00o

CD0

0

0100

9,5

9

8,5

8

7,5
E. E.

7

5,51

5 -

10

% DMSO

1 10

%DMSO



Chemical shift (8 in ppm) of NH in hydrazinohexapeptides 3-5 and peptide 6 as a function of DMSO-d content in CDC13 / DMSO-d mixtures
(c = 0.005 mol I , T = 30 'C, 500 MHz)

Z-Ala-Ala-Pro-NHVal-Ala-Ala-N H'Pr Z-Ala-Ala-NHPro-Val-Ala-Ala-NH Pr

6,5 -

6-

5,5 -

-I.

1 
10

1%0

% DMSO

9,5-

9-

8,5 -

8 -

7,5 +

-+- Alal

--0- Ala2

-- NHPro3

--- Val4

K Ala5

.- *- Ala6

-1-- NHiPr7

7 -

6,5 +

-- Alal

-0- Ala2

-6-- Pro3

-X- NHVal4

-W-K Ala5
- -Alas6

-O-AIa6

-+- NHiPr7

5

1

0

0

o

0

0

100

9,5-

9-

8,5

8-

7
0.E

6-

5,5 -

7 -

E

1 00 10

% DMSO

5
1


